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Beam Energy : 0.5 MeV, Pulse Width : 200 mm

1.8
1.6
1.4
1.2

T
w
<]

T

[
=]
H

T
)
=]
=]
H

0.8

Emittance (zmm-mrad)
T

0 0.2 04 0.6 0.8 1
Longitudinal Traveling Length (m)

03 0Dooogo



AE/E (%)

Beam Radius, R (mm)

Pulse Length, L (mm)

0.6
0.5
0.4
0.3
0.2
0.1
0 1
0 0.2 0.4 0.6 0.8 1
Longitudinal Traveling Length (m)
04 AFE
Beam Energy : 0.5 MeV, Pulse Width : 200 mm
12 T T
2k
Sk oo
|
10 10k --oeeee ps
20k ,//
g 50k o
B 100k #
200k s
6 L 500k I
800K s
o
4 >
7
2
//-
o
0 0.2 0.4 0.6 0.8 1
Longitudinal Traveling Length (m)
05 00000
200.8
200.7
200.6
200.5
200.4
200.3
200.2
200.1
200
199.9
199.8

0.2 0.4 0.6 0.8 1
Longitudinal Traveling Length (m)

06 OoOOO



gobooooooobooooooOooOooOOoOoOobOOoOoOobOOoOoOoboOoOoOoOoOOoOoODOOoOoOoDboboOonon
ooboooooog

4 00

OO00O00O0O0O0O0O0O0O0O0O0O0O0ooOoooooOoD point-toomesh OO OO ODOOODOOODOODOO
00o00ooooooooooooooooog

point-to-point 0 0000000000 DOOOODOODOOODODOOOOOODOOODOOOODO 2000
0000000o00o0oo0oooooopDooooooDoDoDOoODDOODDO point-toomesh OO OODOOO
goooboddddooooooooooooobbbobobbobbobobbbdddodooog o
OOpoint-toomesh 0000000000000 COOCCOOOOO0OO0O0O000O0OO0DOODODOOOOOOODO
ooo

ddodoooooooooooooon

point-to-point 0 00 00 Opoint-to-mesh 000000 000000000000 O0ODOOODOOODOO
gooooddddoooooooooooooobbbbobobbobobbbo0ddddoooooogo
0000000000000 ooooooooooooooooooooon
gooboddbdddoouoouoooooga

o0o00o0o00o0oo0o0oo0oooooUooooooooooooooooooooooooooooDoon
0000000000000 ooooooooooooooooooDooooDoO

oo obobobobbbobobobooddddooooooooooobDoDono
goooooooogoooooooo 1opopooooOOO0ODOOO0OO0OOOOUOOODODODDOODOO
J00000D0o00oo000o000oo00000ooO000oo00O0O0dpoint-toomesh 000000000
000ooooooooooooo

oo ooobbobobbbbbobbtbodddoDo LD
gooooooboooooooooboboooooob oo oo oDooooooooDooo
0000000000000 0000000 oooooooooooooooooon
gooooddddoooooooooooooobbbbobobbobobbbo0ddddoooooogo
0000000000000 0ooooooooooooooo

000000000000 0o0000o00ooo0o0od00OmeshO00 0000000000 ODOOODOO
0000000000000 oooooooooooooooooooo

000000 0OHammersley Sequence 0 0 0000000000000 ODOOOODOOOOOOOOO
point-toomesh D000 000000000000 O00O0000OO00OO0D meshOOOOOO0OO0O0OO0OOOOO
0000000 Hammersley Sequence 10 0000000000000 00O0O0O0OO0OOOOOOOOOO
gl ooobobobobobbobbobbobddddoooooooo o

ocoboOoO0O0obOOoO0DbOOO0O0OOoO0DOOoOoooOoOooOOooooOosODbO0ObObOOODbOO 200000
pgootbdddddoooooooobobbbobbobbobbbobbb0ddddiououoUo o
oo oooobobobobbboboboodooooogo

C.700o000DOOO00ODOOO0O0OO00DOOO00DOOO0 IVODO0U0DOOOxyOOOUODOOODO
0000080000000 DL0OD0D000D00O0OD00O0D000ODO00D00DOzxO0000000Oz =10mm0O
r=-10mmO00000COO0DOCO0COCOOO0ODOCO0OOOO0O0DOOOOOOO0OODOOOODOO



ooboooooooooooobOboOoOoboocoobooOoOoooOooOOoOoOoOOoOoOoboboOooon

bbb oobobooboobDoobbUobDoooDbOo0obUoobDoobDbUObO oD O
goobooboboboooooooon

15

y (mm)

095 1 1.05 1.1 1.15 12 1.25 -1510-5 0 51015
z (m) X (mm)

07 DoDODOO0O0OOODOODO



5 O000point-to-point 0000000000 OOO0DOOOOO

oo0oo0ooOoO0o0ooOoOooo0ooobOoo0oO0ooOOoO00oOOob0O0O0ODOOoO0O0O0oO0oO0O0O0OO00O00o0ni1300
009800003378r 0000000000 000130000000000000.8000000000000
0.9000¢0

oooooooooooooooOo0ooooooo0 13000000o0oooooOo0ob0obobo00Ooooooon
goobooooooooooooooboooobo0oooooooooooDboOoooDboOooDbOOooooOOog
cooboboooooooooooooOooOoOobOOo0oOoOOoOoOoOoOoOoOoOoOOoOOObOOODbDOObObOOOO
ooobooboooobooooooooooboobooobboooooooobooooooDooOoo

cobodooboobboooooOobbooooOooobbodUbodOxybOoUooOOOoOoDOOOOOOODO
goboboooooboooooooooobooooboOobooboooooooooobooooobooOooboOoOonoobooOoo
goobooooooooooooooooobo0oooooooooooDbooooDoOooDboOoOooooOOog
ooobooooooon

0.6
f f f 0.6 T
03 b T — —— 3 IS N B
= 3 3 3 A
g 0 | : | g ok o
T e e e IEJTY N S
06 | i i 06 Lo
0 0.05 0.1 0.15 0.2 -0.6-0.3 0 0.3 0.6
z (m) X (mm)

08 ODOOO0OOO0OObOOOOOOOOobO

Beam Energy : 0.5 MeV, Pulse Width : 200 mm
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